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Mr. Schlansky ) Geometry

Exterior Angles in Circles

1. Major arc AB = 200°, Minor arc AB = 160°, find m Z APB
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6. In the diagram below of circle C, mQT = 140, and tn./P = 40, What is mRS?
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7. In the diagram below, 25 is a tangent to circle O at point S, POR is a secant, m/L.QOPS =35,
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8. Inthe diagram be/Lc\w, tangent P4 and secant PBC are drawn to circle O from external point P.

If AC =120 and 4B =80, find m/ZAPB QEA\\:W(\\MMBF
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9. In the diagram below, tangent ML and secant MNX are drawn to circle O. The ratio
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